
Subtracting up to 1000 without carrying (V-3)
SOLUTIONS

Name:

Time: Score: /

287)
−

4 7 6

2 1 0

2 6 6

288)
−

1 8 4

1 7 0

1 4

289)
−

8 5

5 3

3 2

290)
−

4 9 3

1 0 0

3 9 3

291)
−

6 1 3

1 1 2

5 0 1

292)
−

9 1 5

1 0 3

8 1 2

293)
−

6 4 1

1 4 0

5 0 1

294)
−

6 6 2

1 0 1

5 6 1

295)
−

9 6 5

3 3 0

6 3 5

296)
−

4 4 3

3 2 1

1 2 2

297)
−

9 7 0

2 0 0

7 7 0

298)
−

4 7 8

2 3 0

2 4 8

299)
+

6 1 1

0

6 1 1

300)
−

5 3 1

5 2 1

1 0

301)
−

9 0 3

5 0 3

4 0 0

302)
−

9 8 9

7 1 0

2 7 9

303)
−

5 9 5

5 2 5

7 0

304)
−

9 5 2

6 4 2

3 1 0

305)
−

7 6 2

1 6 0

6 0 2

306)
−

2 4 7

1 4 2

1 0 5

307)
−

1 3 5

1 2 2

1 3

308)
−

1 2 4

1 1 4

1 0
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